== A
N & o & AF & H Al A
20158 & =0l & L BHSIH S Al
2AM: SAD
S T AAE
Sl SAIHE (29l & 2)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
S Al D 19,389,482 19,033,830 355,652
= 11,600,000
Al 7,789,482
SAAH & 38,500 38,000 500
S AIH = 2,400 2,400 0
S A2t A &8 2,400 2,400 0
202 odl 2,400 2,400 0
01 = LH Yl 2,400 2,400 0
02020 =T A2l HE HE(MEH) =&
200,000 »12& 2,400
S A2l X&Z 36,100 35,600 500
S Al Zel X2 3l 36,100 35,600 500
201 Let2d] 26,100 25,600 500
01 At 22l 25,700 25,200 500
O1 Let==EH| 11,000
DEZAZ2HE 43102 3,500,000& *33] 10,500
Dsdltget=28e T2 2|
500,000 » 14! 500
O3 2d=¢ 14,700
DEAMAERARE Y SEIHEIFE S &
g 70,000& *2121 %102 14,700
02 8323l 400 400 0
O1 83322 ¥ HA 400
>Ust=&E53 g3l 400,000 * 13l 400
202 odl 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0
OZAIAHE L TAMNY JRE2
10,000, 000 * 1Al 10,000
S AR 4,800 20,800 216,000
S AR AL 4,800 20,800 A 16,000
HEXA B 4,800 20,800 A 16,000
202 O4dl 4,800 4,800 0
01 = LH o4 4l 4,800 4,800 0
Oosgigade Xxz2el 400,000 x12& 4,800
S Al TH A4 17,696,600 17,693,000 3,600
= 11,500,000
Al 6,196,600
SATHA ALY 3,600 0 3,600
SANMY 2435t 3,600 0 3,600
202 o4dl 3,600 0 3,600
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH o4 1l 3,600 0 3,600
OZATH 2= 300,000& 128 3,600
SO OHE 17,693,000 17,693,000 0
= 11,500,000
Al 6,193,000
M =& ALY 17,693,000 17,693,000 0
= 11,500,000
Al 6,193,000
401 AIEHI L 20 17,693,000 17,693,000 0
= 11,500,000
Al 6,193,000
01 A& HI 17,693,000 17,693,000 0
OFsHE=Sd =4 A 17,693,000
> & X1 04 & 8l 17,693,000,000& * 14 17,693,000
= 11,500,000
Al 6,193,000
SUHES 367,410 153,220 214,190
= 100,000
Al 267,410
NelZB3EAMAE 25 22 103,220 86,960 16,260
NelZ3EANAE 25 22 103,220 86,960 16,260
201 YEr2 | 86,420 84,560 1,860
01 At 22l 2,000 2,000 0
O1 det=2Hl 2,000
DXHEMOIE EHE(EEH) 222
2,000, 000& 1Al 2,000
02 =24l 84,420 82,560 1,860
O3 A& ZHl s Xl 84,420
DXl EEAAE(H/W, S/W) SR
3,350,000& x12& 40,200
D3NGB AHEAAE(S/WN) RXES
2,785,000& x12& 33,420
DXIStAIEE2 SERAIAMAE(S/W) AL+
900,000 »12& 10,800
202 O4dl 4,800 2,400 2,400
01 = LH 4 Hi 4,800 2,400 2,400
O323E g2Fa 400,000 x12& 4,800
405 TtabF S| 12,000 0 12,000
01 et EFSFHSHI 12,000 0 12,000
OVWPN Eor&Hl #(wH) 12,000, 0003 * 14 12,000
2 O0lE S 883 250,000 50,000 200,000
2 100,000
Al 150,000
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CiolE el &3t

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S2HEE DB &2 50,000 50,000 0
401 Al HIZ 201 Y] 50,000 50,000 0
01 A& HI 50,000 50,000 0
O3232 DB Azl 50,000, 000& =14l 50,000
=X XN 22 200,000 0 200,000
= 100,000
Al 100,000
403 UtXISHE X201 E 200,000 0 200,000
= 100,000
Al 100,000
02 S| 2SO0l CHEHCHEH AL Bl 200,000 0 200,000
O=XXNEE HMEAY 2E=
200,000,000& 14 200,000
= 100,000
Al 100,000
SHIFEXNEEANAE 2F 14,190 16,260 A 2,070
EXOISHEEIN L5 7,500 7,500 0
201 24| 7,500 7,500 0
01 At 22l 5,900 5,900 0
O1 get=2Hl 5,900
DEXOESAHEHEUAN LE2EX
2,500,000 1Al 2,500
DEXOSHEEN 228 222 (ZEH
eIsJl 8) 1,000,000 * 14! 1,000
DEXOZHEHUMN =528 =2 EF
ey 300, 000& »2CH 43| 2,400
02 =24l 1,600 1,600 0
O1 3322 ¥ HA 1,600
DEXOISHSN HRHASH
400,000& =401 1,600
SIEEXNZEANAHE 2F 6,690 8,760 22,070
201 £Br2dH| 6,690 6,360 330
02 =224l 6,690 6,360 330
O3 Al ZHl s Xl 6,690
DEIREXNZEEAIAL S/WGSE) RXE=
35,000& 128 420
DEIREXNZEAIAL GisA A (ArcSDE) =X
2= 265,000& 128 3,180
DEIEXNFEAMNAL SINLER) FAES
192,500 128 2,310
DEIREXNZEAIAE S/W(GeoDT)R X E =
65,0002 128 780
HeEs(ZAlR) 1,200,000 1,040,000 160,000
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el
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Al 2t
PES(TADL)

2HeHXE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEAHHKI = 1,200,000 1,040,000 160,000
ZII0ESEEAAHEANEEY HES 1,200,000 1,040,000 160,000
701 JIEtSI HSHES 1,200,000 1,040,000 160,000
01 JIEtel HE &= 1,200,000 1,040,000 160,000
OFII0IZHZAAHSANLEUHXN 2L LAEE S A
dE3 1,200,000,000& 14 1,200,000
HY2FZH (S AlD) 82,172 88,810 A 6,638
el 2 48,222 55,151 26,929
ol 2| 48,222 55,151 A6,929
101 1A Hl 48,222 55,151 26,929
01 2= 48,222 55,151 26,929
OAZt 28+ 8,930 x1821+300A| 2t 48,222
Jl=&dl 33,950 33,659 291
Jl=dl 33,950 33,659 291
201 Let24d] 22,710 19,779 2,931
01 At 22/l 17,150 14,219 2,931
O1 gt=&Hl 12,614
PEMN2I+=EH 9,614,000 14l 9,614
DEAILEZRHIN(EW,E8)
300, 000 x5CH 23] 3,000
O5 =&l 4,536
DOt 5222 7,000 x1821 33| x 128 4,536
02 23=24gHl 5,560 5,560 0
O1 3322 ¥ HA 4,560
DRERS 1,900 x20024 122 4,560
O3 A&l |SXdl 1,000
> AFRI1J] S X b8l 500, 000& »2CH 1,000
202 oddl 6,440 9,680 A 3,240
01 = LH o4 1l 6,440 9,680 A 3,240
OJlagge=+a8ndl(182l) 6,440,000 » 14! 6,440
203 YR =&t 4,200 4,200 0
04 BENSSHRF=EHI 4,200 4,200 0
ORNMSYI2FAHI(1821) 350,000 = 12& 4,200
405 TtabH S| 600 0 600
01 et EZFH S 600 0 600
O=8J(ZAIAHE=AS) 300, 0002 »2CH 600




